
SRC1G=1
SRC2G=1IRLA1Rinp=1e4IRLA2Rinp=1e4

V4U=Vs dcsimulationDC1V2U=1mV
V1U=1mV

ParametersweepSW1Sim=DC1Type=logParam=VsStart=1e/6Stop=10Points=71V3U=4mV
SUB1Ir=0.0001K=1VL1VL2
VPVin1

Vin2
Vout

1e/61e/51e/41e/30.010.11101e/61e/51e/41e/30.01
0.1110
Vs(V)Vin1(V) 1e/61e/51e/41e/30.010.111000.005vs(V)Vin2(V)

1e/61e/51e/41e/30.010.111001234
56
Vs(V)V

L1(V) 1e/61e/51e/41e/30.010.11100.030.11
10
Vs(V)VL2(V)

1e/61e/51e/41e/30.010.111001234
56
Vs(V)V

P(V) 1e/61e/51e/41e/30.010.11103e/41e/30.010.1
110
Vs(V)Vout(V)


